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B.A.-II (CBCS Pattern) Semester - IV 
BA12B-11 - Psychology : Organizational Psychology 

 
P. Pages :  6 GUG/S/23/12058 

Time : Three Hours Max. Marks : 60 

_____________________________________________________________________ 

 Notes : 1. All questions are compulsory. 

 2. All questions carry equal marks. 

 3. Use of calculator is allowed. 

 4. If doubt is translation refer questions in English. 

 

    

1.  Answer any one of the following 500 words. 

 

a) Define work motivation? Explain the goals & organizational psychology. 

 

b) Explain conflict process in detail. 

 

10 

2.  Answer any one of the following in 500 words. 

 

a) Define Leadership. Explain Trait and behaviour theory & leadership. 

 

b) Define Normal probability curve. Explain deviation in normal probability curve. 

 

10 

3.  Answer any two in 300 words. 

 

 

  a) Behaviour modification. 

 

5 

  b) Halsey-Blanchard theory of motivation. 

 

5 

  c) Enhancing job satisfaction. 

 

5 

  d) Communication model. 

 

5 

4.  Discuss in short in 100 words any four. 

 

 

  a) Maslow's theory of work motivation. 

 

2½ 

  b) Employee involvement by participation. 

 

2½ 

  c) Nature of job stress. 

 

2½ 

  d) Types of conflict. 

 

2½ 

  e) Factors causing job satisfaction. 

 

2½ 

  f) Causes of stress. 

 

2½ 

  g) Definition and nature of leadership. 

 

2½ 

  h) Verbal communication. 

 

 

2½ 

*2101* 
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5.  Write short notes on any four in 100 words. 

 

 

  a) Equity theory 

 

2½ 

  b) Theory X and Theory Y 

 

2½ 

  c) Stress management. 

 

2½ 

  d) Conflict resolution technique. 

 

2½ 

  e) Non-verbal communication. 

 

2½ 

  f) Network of communications. 

 

2½ 

  g) Barriers in communications. 

 

2½ 

  h) Communication skills 

 

2½ 

6.  Solve any one. 

 

 

  a) The mean of normally distributed score is 100 and standard deviation is 15 what 

 percentage of people will fall between 85 to 130 scores. 

 

10 

  b) Calculate che square ( )2x  assuming equal probability  

Score 1 2 3 4 Total 

Freq. 20 25 18 32 95 
 

10 

   

 

 

 

  ***************  
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_____________________________________________________________________ 

 सुचना :- 1. सर्व प्रश्न सोडवर्णे आर्श्यक आहे. 
 2. सर्व प्रशनाांना समान गुण आहे. 
 3. कॅलक्युलेटरचा र्ापरास परर्ानगी आहे. 
 4. भाषाांतरामध्ये समस्या असल्यास मुळ इांग्रजी प्रशन बघार्.े 

 

    

1.  खालीलपैकी कोणत्याही एका प्रश्नाचे ककमान 500 शब्दात उत्तर द्या. 
 

 

  अ) कायव प्रेरणाची व्याख्या करा सांघटनात्मक मानसशास्राचे ध्येय स्पष्ट करा. 
 

10 

  ब) सांघषव प्रक्रिया वर्स्ताराने स्पष्ट करा. 
 

10 

2.  खालीलपैकी कोणत्याही एका प्रशनाचे क्रकमान 500 शब्दात उत्तर द्या. 
 

 

  अ) नेततृ्र्ाची व्याख्या करा नेततृ्र्ाचा गुणवर्शेष आणण र्तवणर्ादी ससध्दाांत स्पष्ट करा. 
 

10 

  ब) प्रसामान्य सांभाव्यता र्िाची व्याख्या कराा् प्रसामान्य र्िाचे सांभाव्यता र्िाच ेवर्चलन स्पष्ट 
 करा. 
 

10 

3.  कोणत्याही दोन प्रशनाांचे 300 शब्दात उत्तर द्या. 
 

 

  अ) र्तवन बदल. 
 

5 

  ब) हास ेब्लाांचार्वचा कायव प्रेरणचेा ससध्दाांत. 
 

5 

  क) काये समाधान र्धृ्दीांगत करणे. 
 

5 

  र्) सांपे्रषणाचे प्रारूप. 
 

5 

4.  थोर्क्यात 100 शब्दात चचाव करा कोणतेही चार. 
 

 

  अ) मास्लोचा कायव प्रेरणचेा ससध्दाांत. 
 

2½ 

  ब) कमवचारी सहभागगता कायविम. 
 

2½ 

  क) कायव तणार्ाचे स्र्रूप. 
 

2½ 
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  र्) सांघषावचे प्रकार. 
 

2½ 

  इ) कायव समाधान ननमावण करणारे घटक. 
 

2½ 

  फ) तणार्ाची कारणे. 
 

2½ 

  ग) नेततृ्र्ाची व्याख्या आणण स्र्रूप. 
 

2½ 

  ह) भावषक सांपे्रषण. 
 

2½ 

5.  100 शब्दात सांक्षिप्त टटपा सलहा कोणतेही चार. 
 

 

  अ) समतुल्यता ससध्दाांत. 
 

2½ 

  ब) ससध्दाांत X आणण ससध्दाांत Y 
 

2½ 

  क) तणार् व्यर्स्थापन. 
 

2½ 

  र्) सांघषव ननर्ारण तांरे. 
 

2½ 

  इ) अभावषक सांपे्रषण. 
 

2½ 

  फ) सांपे्रषणाचे जाळे. 
 

2½ 

  ग) सांपे्रषणातील अर्थळे. 
 

2½ 

  ह) सांपे्रषण कौशल्ये. 
 

2½ 

6.  कोणतेही एक सोर्र्ा. 
 

 

  अ) असूण प्रमाण वर्चलन 15 आहे तर 85 ते 130 गुणाांच्या दरम्यान क्रकती टक्के लोकाांची सांख्या 
 असणार. 
 

10 

  ब) समान वर्तरण गटृहतकाच्या आधारे ( )2x  काय र्गावची गणना करा.  
Score 1 2 3 4 एकूण 
र्ारांर्ारता 20 25 18 32 95 

 

 

10 

  ************  
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 सुचनाएँ :- 1. सभी प्रशन अननर्ायव है। 
 2. सभी प्रशनों के अांक समान है। 
 3. कॅलक्युलेटर के उपयोग के सलए अनुमती है। 
 4. भाषाांतर में समस्या होनेपर मुल अांग्रेजी प्रशन देखें। 

 

    

1.  कोई एक प्रश्न का 500 शब्दों मे उत्तर दे। 
 

 

  अ) कायव असभप्रेरण की पररभाषा दीजजए। सांगठन मनोवर्ज्ञान के लक्ष्य स्पष्ट कीजजए। 
 

10 

  ब) सांघषव प्रक्रिया वर्स्तार से स्पष्ट कीजजए। 
 

10 

2.  कोई भी एक प्रशन का 500 शब्दों मे उत्तर दे। 
 

 

  अ) नेततृ्र् की पररभाषा कीजजए। नेततृ्र् के शीलगुण तथा व्यर्हारर्ादी ससध्दाांत स्पष्ट कीजजए। 
 

10 

  ब) प्रसामान्य सांभाव्यता र्ि की पररभाषा कीजजए। प्रसामान्य सांभाव्यता र्ि में वर्चलन स्पष्ट 
 कीजजए। 
 

10 

3.  कोई भी दो के 300 शब्दों मे उत्तर दे। 
 

 

  अ) व्यर्हार पररर्तवन। 
 

5 

  ब) हास ेब्लाांचार्व का कायव असभप्रेरण का ससध्दाांत। 
 

5 

  क) कायव समाधान में र्धृ्दी करणा। 
 

5 

  र्) सांपे्रषण प्रारूप (मॉरे्ल) 
 

5 

4.  कोई भी चार की 100 शब्दों मे सांक्षिप्त में चचाव कीजजए। 
 

 

  अ) मास्लो का कायव असभप्रेरण का ससध्दाांत। 
 

2½ 

  ब) कमवचारी सहभागगता कायविम। 
 

2½ 

  क) कायवतणार् का स्र्रूप। 2½ 
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  र्) सांघष्र के प्रकार। 
 

2½ 

  इ) कायव समाधान ननमावण करणेर्ाले घटक। 
 

2½ 

  फ) तणार् के कारण। 
 

2½ 

  ग) नेततृ्र् की पररभाषा एर्ां स्र्रूप। 
 

2½ 

  ह) भावषक सांपे्रषण। 
 

2½ 

5.  कोई भी चार पर 100 शब्दों में सांक्षिप्त मे टटप्पणी कीजजए। 
 

 

  अ) समतुल्यता ससध्दाांत। 
 

2½ 

  ब) ससध्दाांत X तथा ससध्दाांत Y 
 

2½ 

  क) तणार् व्यर्स्थापन। 
 

2½ 

  र्) सांघषव समाधान तकननक। 
 

2½ 

  इ) अभावषक सांपे्रषण। 
 

2½ 

  फ) सांपे्रषण के जाल। 
 

2½ 

  ग) सांपे्रषण मे बाधाएँ। 
 

2½ 

  ह) सांपे्रषण कौशल्य। 
 

2½ 

6.  कोई भी एक हल कीजजए। 
 

 

  अ) एक प्रसामान्य रूपसे वर्तरीत गुणों का मध्यमान 100 है तथा प्रमाण वर्चलन 15 है। तो 85 
 से 130 गुणों के दरम्यान क्रकतने प्रनतशत लोग होंगे। 
 

10 

  ब) समान सांभाव्यता वर्तरण के आधार पर ( )2x  काय र्गव की गणना कीजजए।  
गुण 1 2 3 4 कुल 
आर्तृ्ती 20 25 18 32 95 

 

 

10 

  ************  
 


